.

[\
Q\
th 1
3
0
0

\
(2
ey
2
%




(TO\?\(Q \2— Neujﬂo\\ Geome:\‘(j\

Deg‘. LEAV (Tjﬁ)c}\)mB be o P(o"\*{O\Cl‘h(
T et

/ ARC s /DET are

ApC & LDET,

o Two angles
Co«\o,weNV oA /
b )

\f@ H\(LA%C> — W\(LDESP>

. Suppese we have @ 4 riaagl /\ABC.
We wite ) A e LBAL, /B for / ABC,

and. £LC e / BCH. 72 B
\ 2
b <24 e

C

o gdppose AP\\%Q Q/\CL ADE\: ore
5(('\0\,\3\@5_ We weke A ALC ~ ADET gl

’Hf\& %\lowi/\(x 51X CondiNuns hotdos




F

o Two Alinngles ANGC and ADET
least 0ne

Ve

(e coz\ﬂ(de/ﬁ & X

OQ’ 5(\/\0. %\\ow'\l\j Co/\c)\\"\’i\)f\S \/\
ARBC 2 ADEF | AACH ADET

—~

AbAC < ADET

A Gop o~ ADEF,
N AR ADEF, ACBPAZ DETF



D@J(\ A P(o’k((/\cjrﬂ( ae,omc\-/\ﬁ

(‘Q’ £ .4, m) cokic Res Fhe
[SAS)

ch)\c——&/\fj\c/@\g)\a, O\X(O(v\
AABLL oad ADEF

KL wWwhaenever
(e 5W\M\fj\m N Th
Maf" D‘E XA and O

Lhen AABLAY ADEF and 0ce
L\ Col\ij\/\)Q/\‘\’ c

A

A piobrachr geome(y Thet s s hies
SRS 6 CO\\\ r O vleuﬂu\ f)eowxe% 3

N, E\F




jb\eole_m: T\/\c E\)c\\\c}\ﬁ?_om Pto\f\e

and Yhe P&tﬁe(\oo\(c ploae are
\OQ)(\/\ Y\CU’\V(O\\ %EOMC’\'(RQQ,

\9“0%1 See Y/\\\\\\N\O\(\/POKF\CQ(-

| G

7
S
EX" Thee 16 & ?/o’\'fo\c_j\\vf
Cﬁ“’N\e—Jﬁj c\\ed Yhe j(oq{\cm\o

?\CM\Q, Mt doesn' ¥ @m\\'ﬁ%ﬁ
S])\S, Sﬂ’, \\/\‘\\\W\M [?O\(\i@f

poge 126~ \2 T

/_/7



DQ/Q‘« LQXV AP\%Q Le &
o~ V\eujﬂ’(x\\ %QOW\@AW\{)

boan lets
NS

Amlcmg e A0

AUARC (¢ tsoscele
o StAes Gt con Gre

/\ AYC s ca Ved %\m¥(m\

& all Ilhree S(de oce Qm\jwtrﬁ

T\/\@o[e)/\‘/\ (E\fc\l&> \,esv AN ABC

A

he an G 5Ce\es %(io\nﬂ\

Y\CU)F(U\\ OSQ,OV\/\Q)T/ﬁ, A
Guppsse Ab < AT
T\AU\) /B>~ /C.




prock’ Think ob e same
SVr\cwo\e, bwice hukx one e @l

oNe \\c@ s

A2

\Ne \f\()\&ld ‘H’\o\
AR = AL, LRS /A, AL A .

@ﬂ CAS we get ARAC & JACNG .

/ﬂf\er\} Lgi\’—LC
2\



PC&'. LGSV G:<©f)/$€}a\/\m>
\Oﬁ 7N ?/0’\"(0\(«’\‘“( ﬂﬁomc%’rj,

[) G— SO\HSQ\'QS g\g\\eﬁ\l&e—m\q \@ (F\Sl\)

A

b gen aay T o H\'m\?'\ag
ARG L and ADE T Wit .
LA/:L_D,'/?\%iFE) pnd LB S

then AABC L ADET
; z
\ 4 |
: C Y c

(M) Q‘ 30\%‘%{\—%@? S(Ae—a(\g\e—a/\g\@
(SAA) iF 9iven oy fwe




’\—h&/\ff\@ AAYC and ADEFE with
Re o DE, L8~ £ and LLZT,

Lhen AMRC~= ADEFE

M’/x) Cr Sc@hs%es Sic&t@ic&vsida

<§§3> o glven ey o 9
%(M\j\@ﬁ AAC A O ADET wih

A D‘E %QN\/ nd CAS ‘FD

then AABCL o~ ADET.







/\ KGC Ad, A DETF it
AAL\)—-AD/ @fg—E/ OU\C.\\ L%iLE

//%\ /b
P\w C \3*\ \\F

A NSy AALC =2 ADER
’H/\@.Ofé/\n
%<§EDF

We will sh
Bj +Hh ¢ Sqme/\{’ (yas Noeho

thece XIS & Jnigue QoA

W DG o AT

) H\ &
&
: ~ p G F




We will show Yok ARKC = ADEG

and Fhen G=F 1 geh
ANBC = ADEF.

Since AR~ DE, (AN LD,
ik AL DG
\O\j SRS we 9ex
/N AL 2 N DHE G
Thog, LARC X . DEG
DUk we kaow alse ZABC = ZDER
r—kus LDEGNLDCF

FnaN




Mho & 8100 )

B\? [ Ar) 0&; O\f\fg\ﬁ, AN there
(¢ o Uague (&9 EF = Eé

it w(ZDEG) = (4D ).

T)’\QS/
—> —y 7
Sl = EFNDF = EGNDF = 0]
56) =G,
Thot) ABAC = AEDE = DEVT.
So, NABL = ADET.
@



